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SODIUM THIOSULFATE,0.025N,4LITRE W2206

IODINE SOLUTION  .025N    1L W2251

Starch Solution, 4L W2121

Run Number: Constant: 16000

Parameter: SUPERVISOR REVIEW BY:

Analysis Method: ANALYST:

Analytical Summary Report

Normality1:
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9034
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1 PB102777BL 50 13:3209/30/20170.004.404.400.005.00501 0.000.60

2 PB102777BS 50 13:3509/30/201720.161.881.880.005.0050125 2.523.12

3 I5486-01 50 13:3809/30/20174.323.865.741.885.00501 0.541.14

4 I5496-01 50 13:4209/30/20178.003.403.400.005.00501 1.001.60

5 I5496-02 50 13:4509/30/20178.163.386.783.405.00501 1.021.62

6 I5496-03 50 13:4809/30/20176.403.603.600.005.00501 0.801.40

7 I5496-04 50 13:5209/30/20175.763.687.283.605.00501 0.721.32

8 I5496-05 50 13:5509/30/20177.683.443.440.005.00501 0.961.56

9 I5496-06 50 13:5809/30/20177.203.506.943.445.00501 0.901.50

10 I5496-07 50 14:0209/30/20178.643.323.320.005.00501 1.081.68

11 I5496-08 50 14:0509/30/20176.563.586.903.325.00501 0.821.42
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T2 Diff = T2 Final - T2 Initial

Result = ((T1 * Normality1) - ((T1 - Value Corrected With Blank) * Normality2)) * Constant / Initial Volume

Value Corrected With Blank = ((T1 - T2 Diff) - Blank Correction(BL))

T2 = Titrant2

T1 = Titrant1
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12 I5526-01 50 14:0809/30/20174.003.903.900.005.00501 0.501.10

13 I5526-01DUP 50 14:1209/30/20174.163.887.783.905.00501 0.521.12

14 I5526-01MS 50 14:1509/30/201718.562.082.080.005.0050125 2.322.92

15 I5526-01MSD 50 14:1809/30/201718.722.064.142.085.0050125 2.342.94

16 I5526-02 50 14:2209/30/20174.643.823.820.005.00501 0.581.18

17 I5526-03 50 14:2509/30/201762.081.641.640.0010.00501 7.768.36

18 I5526-04 50 14:2809/30/201713.442.724.361.645.00501 1.682.28
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